Shopping for Fruit

Show which coins are needed to make the correct amounts. Draw or use real coins.

1 bunch of
bananas 65p

1 bag of
apples 43p

1 bag of

pears 78p
1 box of

strawberries 54p
1 box of
plums 27p
(pineapple 99) (
1 bag of
oranges 66p
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Shopping for Fruit

Show which coins are needed to make the correct amounts. Draw or use real coins.

1 bunch of
bananas and 1 bag of
apples

1 bag of apples and

1 box of grapes

1 bag of pears and a
pineapple

1 box of strawberries and 1
bag of apples

1 box of plums and 1 bag
of pears

1 pineapple and 1 bunch

of bananas

1 bag of oranges and 1

box of plums
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Shopping for Fruit Answers

Possible Answers:

50p, 10p, 5
1 bunch of P P 2P
bananas 65p 20p, 20p, 20p, 5p
10p, 10p, 10p, 20p, 5p, 5p, 5p

20p, 20p, 2p, 1p
10p, 10p, 20p, 2p, 1p
5p, 5p, 5p, 5p, 10p, 10p, 2p, 1p

50p, 20p, 5p, 2p, 1p
20p, 5p, 20p, 5p, 20p, 5p, 2p, 1p
20p, 20p, 20p, 10p, 2p, 2p, 2p, 2p

1 bag of
pears 78p

1 bag of
apples 43p
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50p, 2p, 2p
20p, 20p, 10p, 2p, 1p, 1p
10p, 20p, 20p, 1p, 1p, 1p, 1p

1 box of

strawberries 54p

20p, 5p, 2p
10p, 10p, 2p, 2p, 2p, 1p
10p, 5p, 5p, 5p, 2p

1 box of
plums 27p

Eineapple 99p
1 bag of
oranges 66p
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50p, 20p, 20p, 5p, 2p, 2p
10p, 20p, 50p, 10p, 2p, 5p, 2p
20p, 20p, 20p, 20p, 10p, 5p, 1p, 1p, 1p, 1p,

\

50p, 10p, 2p, 2p, 2p
20p, 20p, 20p, 5p, 1p
10p, 10p, 10p, 10p, 10p, 10p, 5p, 1p
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Shopping for Fruit Answers

Possible Answers:

1 bunch of 65p + 43p = £1 and 8p
bananas and 1 bag of £1, 2p, 2p, 2p, 2p 50p, 50p, 5p, 2p, 1p
apples 50p, 20p, 20p, 10p, 2p, 2p, 2p, 2p
1 bag of apples and
1 box of grapes
1 bag of pears and a
pineapple
1 box of strawberries and 1
bag of apples
1 box of plums and 1 bag
of pears
1 pineapple and 1 bunch
of bananas
1 bag of oranges and 1
box of plums

43p + 27p = 70p
50p, 20p 20p, 20p, 20p, 10p
20p, 10, 20p, 10p, 5p, 5p

78p + 99p = £1 and 77p
£1, 50p, 20p, 5p, 2p  50p, 50p, 10p, 10p, 50p, 2p, 2p, 2p, 1p
20p, 20p, 20p, 20p, 20p, 20p, 20p, 10p, 10p, 10p, 5p, 2p

RO
AN

54 + 43 = 97p
50p, 20p, 20p, 5p, 2p 20p, 20p, 20p, 20p, 10p, 2p, 2p, 2p, 1p
10p, 10p, 20p, 10p, 10p, 5p 1p, 1p
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27p + 78p = £1 and 5p
£1, 5p 50p, 50p, 2p, 2p, 1p
20p, 20p, 20p, 20p, 20p, 5p
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99p + 65p = £1 and 64p

£1, 50p, 10p, 2p, 2p 50p, 50p, 20p, 20p, 10p, 10p, 2p, 1p,
1p, 1p 50p, 20p, 20p, 10p, 50p, 5p, 5p, 2p, 2p, 1p
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66p + 27p = 93p
50p, 20p, 20p, 2p, 1p  20p, 20p, 20p, 5p, 1p, 10p, 10p, 5p, 2p
20p, 20p, 20p, 20p, 10, 1p, 1p, 1p
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